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QOuestion 1 {12 points)

On December 31, 2010, Atlas Company finished consultation services for Palestine Company
and accepted in exchange a promissory note with a face value of $250,000, a due date of
December 31, 2013, and a stated rate of 10%, with interest receivable at the end of each year.
The fair value of the services is not readily determinable and the note is not readily marketable.
Under the circumstances, the note is considered to have an appropriate imputed rate of inferest of
5%

The foHowing interest factors are provided:
interest Rate

Table Factors For Three Periods 5% 10%
(DJ" Future Value of 1 1.15763 133100
? O Present Value of 1 86384 75132
Future Value of Ordinary Annuity of 1 , 3.15250 3.31000
- ' Present Value of Ordinary Annuity of 1 2.72325 2.48685
.
“Required :
Prepare the entry for the issuance of the note for both companies. (6 points)

Atlas Company Palestine Company

o NI B25gin

C;, (v A R r@/,nu\’s
V%Cev\ SWN

\/ \/ h
(b) Prepare the entry to record interest revenue/expense for both compames at the end of the
second year (December 31, 2012) using the effective interest method. (6 points)

Atlas Company Palesting Company
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Multiple Choices (15points)

1. Sinokrot Corp.'s trial balance reflected the following account balances at December 31, 2013:

Accoupts receivable (net) , $24,000
rading securities 6,000

~ " Accumulated depreciation on equipment and furniture 15,000
Cas 11,000
Inventor 30,000
"’mﬁit 25,000
Patent : 4 000

(_\Prgp@i_egpgnses 4,000
i i 18,000

Land held for future business site .

an Sinokrot's December 31, 2013 balance sheet, the current assets total is
< “a. $90,000. _ —

b, $82.000.
@ $75,000.
d. $73,000.

A
Use the following information for questions 2 -3. el
In January 1, 2012 Sahem Development Company sold building having a cash sale price of
‘\\“$120 000 to Ramallah Health Spa, Inc. Sahem Development accepted in exchange a four-year
a matunty value of $213,866 and no stated interest rate. The market rate of inferest for a
iS 8 percent. Priot 1o sale the building on Sahem’s Balance Sheet is reported
at eost of $200,000 and; accuimulated depreciation in the amount of $50,000. - \GO, b0
gt g,z O
2. Which of the following is the correct journal entry to record the sale of the building on Sahem
Company’s books?

a. Notes Receivable 120,000
Accumulated Depreciation 50,000 N ‘{ N i 3/% 1‘?‘
Premium on N/R 93,866 Fhse
Building 213,866
Gain on Disposal 50,000
0 Notes Receivable 213,866
. LOSS’"OH'DiSpOSHl 1 . 80,008 : RO
Building 200,000
Discount on N/R 93,866
c. Building 120,000
Discount on N/P T 93,866
Notes Payable 213,866
d. Notes Receivable 213,866
Accumulated Depreciation 50,000
Loss on Disposat 30,600
Building 200,000

Discount on N/R 93,866



7. Assume that Injaz factors the receivables on a with recourse basis. The pet income is

a. $15000.
b. $15,000, less any uncollectible amounts.
@ $12,000.

d.  $12,000, less any uncollectible amounts.

Hilitop Co.'s monthly bank
statement shows a balance of
$54,200. Reconciliation of the
statement with company books
reveals the following information:

Bank service charge $10
Insufficient funds check 650
Checks outstanding 1,500
Deposits in transit 350

Check deposited by Hilltop and cleared by the bank for $123,
but improperly recorded by Hilltop as $152

What is the net cash batance after the reconciliation?
a. $52,363
@ $53,023
c. $53,050
d. $53,077

9. Marr Co. had the following

sales and accounts receivable

balances, prior to any adjustments

at year end: Credit sales $10,000,000
Accounts receivable - - 3,060,000

Allowance for uncollectible 50,000

account@

Marr uses 3% of accounts receivable to determine its allowance for uncollectible accounts at

year efid. By what amount should Marr adjust its allowance for uncollectible accounts at year

end?

a. $0

b. $40,000

¢. $90,000
(3$140,000




PART 1 - ESSAY QUESTIONS
Question 1 (12 points)

Early in 2013, Abdeen Manufacturing Leather Corporation engaged Nabali & Fares Construction
Co. to design and construct a complete modernization of Abdeen’s manufacturing facility.
Construction was begun on March 1, 2013 and was completed on NM& Abdeen
made the following payments to Nabali & Fares Construction Co. during 2013:

Date 1 Payment
March 1, 2013 $3,600,000
June 30, 2013 5,400,000

T ' .
August 31, 2013 4,500,000
November 1, 2013 - 600,000
November 30, 2013 100,000
A

In order to help finance the constructlon Abdeen issued the folowing during 2013:

1. $550,000 construction manufacturing facility loan issued oﬂgiérch 1; 2013)2 year@

interest, payable annually on December 31..

2. M@hﬁj§ of ; @:Qaz_..g,ommon stock; 1351.6:3 at $1O pershare on July 1, 2013.
(/5 (0 eve - __l:‘,‘ J?\« 4’
Additional information is provided for other debt outstanding as follows: ﬂﬁf
7

1., $100,000 10-year, 10% bond, dated December 31, 2012, inerest payable annually.
; 2. $50,000, 12% note payable, 5-year, issued\Qctober 1 2__‘, interest payable annnally. a’/WyeﬁE /

T b s sov o Wl TED
— Requirsd | m ~ /ﬁ;;;a

‘ & a) Compute the weighted-average accumulated expenditures qualifying for capitalization of
interest cost for 2013, using the following table. (5 points) -

Egaendimre | Capitalization VWeighted-Average
' Period Accumuiated Expenditures
Date Amount
pur 00,0 T % T, Fou, e
et Ty She, 4 f’/,q’ , /2,/7,50/ g%
/&f‘ﬁ) 31 by Sv, i ’9/(7_/ i h?%{d&p
/]/I?l/i O/éq/ﬁ‘/l’ %/L /9‘0/5’[/0
22 [00,000 0 . /o
| Tat;ai_We%ghted—Averag&}’&Eéumuia’te-ﬂ Lxpenditures | 13 7 (/ 125,000 } |




b) .Compute the avoidable interest incurred during 2013, using the following table. (3 points)

Weighted—Average Accumulated Interest Rate Avgidable Interest
Expenditures
{50/0»'1.: 4.66’/000

T )
¥ 57486t
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¢) Compute the total amount of interest cost to be capitalized duriﬁ\g 2013. (4 points)
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Ouestion 2 (16 points) _
Each of the following situations is independent:
1. Rantisi Company uses special pressing equggment 411 its pressing olive oil service. The = Fr o0
equipment was purchased in January 2011 fop$6,000, 000 and had an estimated useful life_of 8
years with i¢-¥alvage value. At December 31,2013, new technology was introduced that would >
accelerate the obsolescence of Rantisi’s equlpment Rantisi’s controller estimated that expected
future net cash flows on the equipment vAll be $2 000,000 and that the: Ia.u\za@\of the

1o B ?5 equipment i

Yo

e
1,700 000. -Rantisi intends to cmtmge_ggmcr the eqmpment but it is estimated

, sJ/ Aep - ‘thaf the remaining usefuI life i 2 years. Rantisi uses Sumn- of-the-y _ea.r]s?.ed gifs- derecmtwn The Guijiie
e 7 fair value of the equipment at December 31, 2014, is estimated to befs ™ %’?’? L_"_f___
— .“___,_,,%s-u_h} ,/
R ,ﬁ R

(633000 2. Assume that Rantisi intends to dispose of the equipment and that it has not been disnosed of as
P quip e
of December 31, 2014. It is expected that the cost of disposal will be$7A000; b= LHGe
; ; %2,. [g\/;]’;’l{jum/F L/Jll(/tc)?/m/

-

3. Sinjpra Company owned a trade name at December 31, 2008 at a cost of $3 00 with ;@

{mr = injte useful life and » ge.yalue. At December 31, 2013, it is determined that the fair
ya g vatue of the trade name i5,%92,900,080. Assume that Siniora intends to dispose of the trade name
S and that it has not been|disposed of as of December 31, 2014. It is expected that the cost of

disposal will be $70,000.) The fair value of the trade name at December 31, 2014 is estimated to
be $7 L
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,,9” G»“' 4 On June 30, 2013, Bravo Co. paid 5,000.000k0 acquxre the whole business of Rukab’s Ice
2 4 Cream Co., which became a division of Bravo. \Presented below is net asset information reported
) J on Rukab’s books at the time of the acquisition: % y
6] / N

(=]

\W Cash $4,000,000
Receivables 1,600,000
Property, plant, and equipment (net) 6,000,000
Patent ?oa'v 4,000,000

Less: Notes payable (5.600.000})

Net assets C. v - $10.000,000 5 W/
. fa ﬁ; , / — 3 /¢ p Ve i
It was determined at the date of the purchase thd he“fan' ftie of the identifiable net assets of assels of ‘ %

" eXperiench "'operatih' Ttses. Tn addition, it now appears that it will generate substannal 1osses
for the foreseecable future. At December 31, 2013, net asset information related to Rukab
Division of Bravo Co. 1s shown below:

Rukab Division
Net Assets
As of December 31, 20,13

~ Cash ~ s4000000 b
Receivables 800,000 [n
Property, plant, and equipment (net) ~ : 5,200,000 |, v




Patent
Goodwill
Less: Notes payable

4,000,000 4 *
9 3002, 4,0  3m

(5,500,000) ( 4760 vosd

At December 31, 2013, it is determined that the fair value of Rukab division is $6 SO0.000 The
. recorded amounts for Rukab’s net assets is the same as {air value, except for property; plant and

equipment which has a fair value of $1 (00,000 below carrying value, receivables, which has a

$3,700,000 above carrymg value.
The following four responses are required for each item (if any)

@

&
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2

Select from the list below the proper impairment test/s code.
Compute the amount of impairment Ioss. | '
Compute the depreciation/amortization expense.

Compute the recovery of impairment loss.
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| Impairment Test Type Coge ““"
Recoverabﬂitggj_#m A A & Sev, IV 4 v
_ 9 Fair value test i B -
= _ Fair value of business unit C [ Vg Bavy v ’—3
e Fair value of implied Goodwill D
g - Al © Jevvevv
Use the foli u& g table to fill in your answer for each situation. v ‘P{,’M/L s 5 £ Cpodby e
- Recoveryof —p
ftem | Type w oss at | Depreciation/Amortization ImpaiFment Loss
of Dec. 31 201 if any) | Expense for 2014 {zf ;my) at Dec, 31, 2014 Gf any)
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Ouestion 3 (12 points)

Space Company is involved in a number of projects related to its future success. Some of these
projects are considered operational activities while others are considersd research and
development (R&D) activities. Space must determine the proper accounting treatment in
assessing certain expenditures for the year.

From the answer choices listed below, select the proper accounting treatment for each of the
expenditures listed below. Each choice may be used once, more than once, or not at all.

r Expenditure Choice i

_J~ Commissions to sales staff marketing new rocket engine. v

7
v

L. . " - /
4. _Acquisition of R&D equipment for use on new rocket engine project only. ”
(

~ 2—Purchase of materials to be used on current and future R&D projects.

e 3~Engineering costs to advance new rocket engine to full production stage.

5. Construction of long-range research facility for usg in current and future
projects. v/

AN

6T egal fees to obtain patent on new rocket.

7. Research costs ingurred under contract with Magnatic Inc'., and billable
monthly. ~§é d

8. /Replace the cooling system in the company’s current facility with a more
modern and fuel efficient model.

(i/Replacing office windows cracked as a result of an explosion at a
P neighboring manufacturing plant,

-5\

10. New process costing software - this Séftware will need to be replaced in 6

years. Aol €

X1 Cost of a parking lot for new warehouse. &~

X12. 20 new desk-top computers for support personnel.

ey

— Tty TA ...
Answer Choices W& oA s

A, Record as receivable

E. E)gpen@ consg;ef( as R&D expense

B. Capitalize and amortize

F. Expense immediately as R&D expense

C. Capitalize and depreciate

G. Expense as manufacturing cost,’ E’L’

D. Capitalize and depreciate as R&D expense |

H. Expense as operating expense




PART 2 - MULTIPLE CHOICE QUESTIONS (20 points)

1. During 2010, Jericho Corp. installed a production assembly line to manufacture furniture. In
2011, Jericho purchased a new machine and rearranged the assembly line to install this machine.
The rearrangement did not increase the estimated useful life of the assembly line, but it did result
in significantly more efficient production. The following expenditures were incurred in
connection with this project:

Machine $75,000 /
Labor to install machine 14,000
Parts added in rearranging the
assembly line to provide /
future benefits 403,000

Labor and overhead to rearrange /
the assembly line 18,000

What amount of the above expenditures should be capitalized in 20117

a. $75,000 —
b. $89,000
c... $107,000

(@) $147.000

\ 2 January, Ramallah Co. purchased a mineral mine for $2,640.000 with removable ore
/.~ estimated at 1,200,000 tons. After it has exiracted all the ore, Ramallah Co. will be required by
law to restore the land to iis original condition at an estimated cost of §180,000. Ramallak Co.

believes it will be able to sell the property afterwards for $300 GQ. During the year, Ramallah
Co. inci!i red $360,000 0D development costs preparing the mifneTor production and removed and

sold (Vtongofore. What amcuj}t should Ramallah Co. report as depletion for the year?
a, 135,000 (‘aﬁ*— ¢ 2 Fe, 7o ———
(B2 $144,000 wrrimaried gk =24 foro
c. $150,000 e b Begses e
’ . PHigacs # Ko £ Pl o B2t
d. $159,000 -2 1 90r 000

\ o
\f\ 3. July 1, one of Birzeit Co.’s delivery vans was destroyed in an accident. On that date, the
an’s clirying amount was $2,500. On July 15, Birzeit Co. received and recorded a $708 Feo ,
invoice for a new engine installed in the vafl in May, and another $500.invoice for variouscos—ly foLas
repairs. T August, Birzeit Co. received $3,500 under its insurance policy on the van, which it 37»» <=
plans to use to replace the van. What amount should Birzeit Co. report as gain (loss) on disposal 54, (10
of the van in #s year-end income statement? - * foscY e
a. $1,000 2, o ) ( Jdoe ;50% |
b. $300 ; ,% | 9 Foo :
c. § ' ?// . .

0 :
’ ’ Ce .

@ On December 31, 2011, Nablus Inc. purchased a machine from Jenin Corp. in exchange for a
non interest-bearing note requiring eight payments of $20,000. The first payment was made on
December 31, 2011, and the remaining seven payments are due annually on each December 34,

e

¢

7
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beginning in 2012. At the date of the transaction, the prevailing rate of interest for this type of
Present value factors are as follows:

note was 11%.
. 5 (20—

Present value of | Present value of

Period | ordimary annuity | an anaunity due
' of 1a111% of 1at11%
7 471 231
6] 5.146 5.712

The initiai value of the machine is

a. $94,240
&> $102,920
c. $104,620
d. $114,240

Use the following information to answer questions 5 & 6.

Apple is contemplating exchangin i ed in its operations for a similar machine on
May 31. Apple will exchange machines with either Orange Co. or Banana Co. The data relating
to the machines are presenied below. Assume that the exchange would have o commercial
substance.

e

A L Apple Orange Banapa |
#-Y¢ | Original cost of the machine $162,500 | $180,000 | $150,000
& £4)¢v| Accumnulated depreciation thru May 31 98,500 | / ’:}ﬁﬁﬁ@ 65,000
fos| &gfr value at May 31 80,000 65,000 | 531929

I3
\% If Apple exchanoes its used machine and $15,000 cash for Orange’s used machine, the gain

tha should recognize from this transaction for financial reporting purposes would b€

<50 . cash J
b. $2.526 Teceive
c. $15,000

d. $16,000

}X{ Apple exchanges its used machine for Banana’s used machine and also ref‘eives‘,$2,DﬂDOO

Cash, the gain that Apple should recognize from this transaction-for financial reporting purposes

______ omdbE = S
a. $0 W/ 2_5’&:4’
b. $4,000 -y
& $16,000 peot & 1557
d. $25,000 bv =i,
ﬂ(:ﬂ{ff é / . BN ) 47 l//é/“"
[\f = f;aa@ “— »
/600: .
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7. On December 31, 2010, Bethlehem Co. had capitalized costs for a new computer software
/ product with an ecoromic life 0 Sales for 2011 were 30 percent of expected total
/(é * sales of the software. At December 31, 2013, the software had a fair value equal to 90 percent of
the capitalized cost. What percentage of the original capitalized cost should be reported as the

mount in Bethlehem’s December 31, 2011, balance sheet?

a.,) 70% Sqley e ﬁ
care A fnyr . . %
e ;3](2)'? | Coot prodee s 2ol # cok SV s ‘Mﬁ%
o AOTE T fmeevlacte

d. 90% i Ry

' Calculate depreciation for year 2 based on the following information: 5 7¢ ﬁ A

e |
Historical cost $40,000 ; - bgeorm 3er £ Pha
Useful life S years % T s 5
Salvage value $3,000 ,
Year 1 depreciation  $16,000 dectnngy d;;& A S I
a. $7,000 e dpeg® o oy Y Yees
CB> $7,400 LT P

c. $8,000 fou
@ $9.600 oy (e 15

/ 9,.0n Ianuawo_ﬂ Jerusalem Co. purchased 2 *ranchise with a uscfl life of 10 vears for
—TT
50,000. An additional franchise fee of 5% of franchise operating revenues also must be paid
cach vear to the franchisor.” Revenues during 2011 totaled $4:_QQJ_QGO In its December 31,2011,
balance sheet, what net amount should Jerusalem report as an ﬂ@glbleasset -franchise?

a. $33,000 é/ .
) );‘Gon
b. $‘13,80(} Ame - (_pp R A5 - Sé’fa
© $45,000 oy o o (
d- $503000 : ”":-_ . ﬂ)_cf fq /" ’1(‘7."/1/

V Lf'ff:? 5—

/ 10 Gaza Co. acquired a depreciable asset on January 1, 2009, for $60,000 cash that time
aza estimated the asset would last 10 years and have 1o salvage vaﬁ_e_’ During 208, Gaza ;;
estimated the remaining life of the asset to be om@e years with a salvage valu'é’c?f 1

$3, CTG’— If Gaza uses straight- hne depreciation, what is the depreciation for 20142 oo - T
$6 060 ) - (oo - 5.y e :
b. $12,000 |
& $15,000 e v . e x 1
d. $16,000 {o
= / Toeo
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